(x-+y)" 2 A7 v 0] A4 o+ 1 7ol ch, o
3b)%)4S NG o, o] H4-S Tahw 2

oA @sA @A @A

Al

{(2a—-3b)3(2a+

® 6470

{(2a — 3b)3(2a + 3b)3}*

= {(4a® - 9b)3)*

= (4a® — 9b?)12

" (40 - 9b?)12 9] O] A= 13 7 0]t




f
HAE A% a, b2t D W, a+ b O] #27

®-s @-2 O®-16 @4 ©F

(x) =x* -2 +5x-62 x-2, x- 12 YFAES

wh <]




3. f(x) =28 -3 4 x—k 7} x— 28 A5 A4 W, kS Flolel,
o

>
> Het: 6

B ‘
f(0) 7t x—25 Q152 ZHethe AL f(x)7hx - 22 Uikl
HojrhE ot

=, f(2) = 02 TEA 7= kS 751,
f2)=2x22-3x22+2-k=0

k=6




4. (1-3i)x+ (B+2)y=1+8E WFHH= A x, y ol tioto] x+y
o] 27

@ -2 @—1 ® 0 @ 1 ® 2

D ~
(1-3i)x+ (3+2)y=1+8i,

(x+ 3y) + (=3x 4 2y)i = 1+ 8i oA

HAag-0] /5o 95t

x+3y=1 -3x+2y=80°]1

AHsto] EHy=1, x = -2

Lxt+y=-1
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